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Solution to Problem Set 4

Problem 4.1.
(a) The Bellman equation written as
V(k) = mkax{log(c) + BV (ky)|e = AkY —ky NO < kg < AE*} (1)
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(b) Now we guess V (k) = a+ blog(k). As V is concave, we must have 0 < k < Ak® at the optimum.
So, the Bellman equation can be rewritten as

a + blog(k) = n%ax{log(Aka — k+) + B(a+ blog(k+)} (2)
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As (2) is maximized at k4 determined by (4), plugging (4) into (2) gives
B Ake BbAk®
a + blog(k) —log(1+5b> +ﬂ(a—|—blog<1+5b (5)
A
= (1 + Bb)log(k) + (1 -+ Bb)log (1 Bb> + Ba + Bblog(Bb) (6)
(6) implies that
b=a(l+ Bb) (7)
a=(1+ 5b)1og( - Bb> + Ba + Bblog(Bb) )
o
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We can ignore a because it is not of interest. Given b in (9), the policy function can be rewritten as
k+ = aBAK” (10)

(c) The non-trivial fixed point of the policy function k is determined by

Using the same argument in Problem 2.1.i.b, we conclude that k1 is locally stable.

(d) The policy functions in this problem and in Problem 1.2 are different as the saving rates in the
OLG and neo-classical growth models are are different. The saving rate the the neo-classical growth
model is higher if o > ﬁ You should be able to plot the policy function.



Problem 4.2.
(a) The Bellman equation written as

V(kyeoq) = ml?x{log(c) + ~ylog(c—1) + BV (k4,c)|c = Ak — ky A0 < ki < Ak} (13)
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(b) Now we guess V (k) = E + Flog(k) + Glog(c—1). As V is concave, we must have 0 < ky < Ak® at
the optimum. So, the Bellman equation can be rewritten as

E + Flog(k) + Glog(Ak®, — k) =

1[I]1€aux{log(AkCY — ki) +vlog(AkY | — k) + B(E + Flog(k4) + Glog(Ak® — k1)} (14)
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This implies
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As (14) is maximized at k4 determined by (16), plugging (16) into (14) gives

E + Flog(k) + Glog(c—_1)

. AK(1+ BG) BF Ak® Ak*(1 + BG)
—log(n/a(mc;) 1+B(F+G))+Glog<1+B(F+G))
= a1l + BG + BF)log(k) + vylog(c—1) + (1 + BF + BG)(log(A) — log(1 + B(F + G)))

+ (14 BG)log(1 + BG) + BE + BFlog(BF) (17)

) -+ log(Ak?, — k) + B(E + Flog(

(17) implies that

E = (14 pBF + BG)(log(A) —log(1+ B(F + G))) + (1 + pG)log(1 + BG) + BE + BFlog(BF) (18)

F=a(l+pBG+ pF) (19)
G=r (20)
(19) and (20) yields
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We can ignore E because it is not of interest. So, the policy function can be rewritten as
ki = afAK” (22)

(¢) So the policy functions in cases with and without habit persistence are the same, meaning the
the saving rates in the two cases are equal. Intuitively, with habit persistence in utility, today’s
consumption affects tomorrow’s utility through . Also, tomorrow’s consumption affects the following
period’s utility, and so on. It turns out that these effects are cancelled out, resulting in the same
saving rate as without habit persistence. To sum up, past consumption is irrelevant for forward-
looking individuals in this case.



